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A-2
1. As light as 6. He will be hack a week.
(A} thunder (A) for
(B nule () ahout
() feather C) in—
(D) fire (D) by
2, The police ran the thief. 7. Choose the correct one:
(A) after. {A) He resembles his father.
(B) for (B) He resembles to his father.
(©) behind (C) He resembles with his father.
(D) with (D) He resembles in his father.
3. One who does not believe in god— 8. One who is fond of refined enjoyment—
(A) pessimist (A) Epicure
(B) optimist (B) Sophisticated
(C) atheist » (C) Civilised
(D) theist (DY Ilicit
4. A number of boys present there, 9. Give a synonym for ‘Cannible’.
(A) were (A) vegetables eater
(BY was {B) chicken-eater
(C) are-

(C) man-eater

(D) have been (D) beef-eater

A man who lives in the same age— 10. ‘Arabian Nights’

— agood book.
(A) contemporary—— (A) were

(B) modern (B) are

(C) colleague C) is —

(D) companion (I} have been



1L He sad w0 me “grass & green” Make it
mdire .

(A He told that prass was green——
He told that prass has been green
(O He told that grass bad been green,

(Y He told that grass is green,

12, Sound of “snak ey’ —

(A} howl
(BY low

(Y chater
(DY hiss —

13. Which one is correct?

.

(A) The USA is arich country._—"
(B) USA is arich country.

(C) The USA are anich country.

(Dy USA awe arich country.

She my propusal.
(A) sets aside —

(B) sets down

(C) sets off

(D) sets on

15. Give the oppuosite word for ‘domestic’.

{A) forest
(B) exported
(C) wild —

(D) unknown

A}

20. Muobile robs me

16, Ranu s

18. Ishall go home

ACPI20

ter seeing you again.
(A) looking abont

(B Inoking forward

(€Y looking at

(D) looking down

17." Birds of same feather’ means

(A) of afamily
(B) of a country
{C) of same type.

{D)) of same locality

metra,
(A) by—

(B) with

{C) for

(D) within

19. Which pair is opposite?

(A) vptimist—pempous
(B} obligatory—voluntary——
(C) producer—pleasure

(D) prominent—undulated

natural joys.
(A) from —

(B) ahow

{C) with

(D) of

Please Turn Over
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1. Great lover of books—
(A) anglophile
(B} hibliophile-
(C) bilingual
(D) bibhio_etaphy

23. He said ‘Do the work’—Make it indirect.

(A) He told to do the work.
iB) He told for the work.

{C) He ordered for the work.
{D) He wanted to do the work.

24, Which one 15 a complex sentence?

{A) She i rich but honest.

(B)y Though she i rich yet she i honest,

{C) Inspite of her wealth she is honest.
{D) She is rich and honest.

25, The principal worked out a plan.
(A) devised

iB) solved

(C) influenced

(D) approached

A4

6. T cannot tolgrate his conduct
Give phrasal verh from helow for the

underlined word.

(A) tell upon
(B) take away
(") do with

{[)) keep with

27. Transform the following into exclamatory:

He is a great fool.

(A) Oh he s a great fool!

(B) What a fool he is! t—"

(C) Hi he s a great fool!

(D) He is surprisingly a great fool!

28. Find owt the word meaning one who js

expert in different subjects:

29, Infitraton

(A) Veteran
(B) Carbuncle
(Cy Versatile —
(D) Virile

since the snowfall,
(A) dropped out

(B) dropped in
(C) dropped away
(D) dropped off

30. Sound of ‘crow'—

(A) bellow
(B) scream
€} caw—"
(D) chirp




I Passive of ‘Please give me a bock ' —

{A) You are requested 1o give me a hook’

(B} You are asked o give me a book.
(© You are told to give a book,

(DY You are tld to give me a book.

32. Living in water—
(A) amphibious
(B} aguatic =
(C) alien
(D} sylph

33. Honest men always speak truth.

{A) a
(B) the —
C)y out
(DY off

3. Theplaneis _  the descent.
(A) over
(B) on
({C) after
(D) below

35. ‘Genocide’ means
(A) killing one self
(B) homicide
(C) murdering maximum

(D) Killing terrorists

A-S ACP/20

36 1t since last week.

(A) is raining
(B) has been raining —
(€) raining

(D) was raining

37. Antonym for ‘beneficient’—
(A) mischief-maker
(B) trouble shooter
{C) peacemaker

{D) rioteer

38. There is alunch party _ the club.
(A) in
{B) at—
{C) with
(D) inside

3. of horses
{A) Bunch
{B) Flock
(C} Clump
(D) Troop

Mrd meaning ‘which cannot be

{A) Inaudible —
(B} Invisible
{C) Incorrigible
(D) Irritable

Please Turn Over
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4. Othello wanted to the light,
{A) put through
(B) puwt up
(C) put down

(D) put out

42. The situation _______ an urgent action.
(A} called by
(B) called ar
(C) called for
(D) called forth

43, Sound of ‘Seas’—
(A) clarter
(B) swash
(C) splash
(D) crash

@/@u&e mangoes the two brothers.

(A) among
(B) within

(C) between =
(D} in

45. Lorrect tle sentence with correct option:
He adr ed his fault.

{A) Told
(B) Confessed
(C) Expressed
(D) Stated

46. A group of ladies—which one s correct?

(A) A herd of ladics
(B) A flock of ladies
(C) A swarm of ladies —

(D) A bevy of ladies

47. Choose the ‘word’ meaning a specch made
without previous preparatjon:

(A) Epicure
(B) Extempore —
(C) Exonerate

(D) Epidemic

48. They went hunting.

(A) about
(B) after
({C) with
Dy a -

49, ‘Polygamy’ means

(A) practice of killing one’s own wife.
(B) practice of dying with dead husband.
(C) practice of marrying many men.

(D) practice of having more than one wife
atatime. -

50. The carpenter is an

{A) artist
(B) artisan
{C) craftsman

(D} labourer



S1. Who among the Navaratna (ninc jewels) of

Akbar’s Court was in the charge of land revenue
administration?

(A) Birbat
(B) Tansen
(C) Man Singh
(D) Todar Mal

52. Noted Indian  environmentalist
S.L. Bhahuguna passed away recently due to Covid
19 in May, 2021. He was a prominent leader of
which of the following movements?

{A) Normoda Bachao Andolan
(B) Chipko Movement

(C) Save Silent Valley Movement
(D) Appiko Movement

53, Which film won the first National Film
Award for Best Feature Film?

(A) Harischandra
(B) Adi Sankaracharya
(C) Mother India
(D) Shyamchi Aai

M founder of Aligarh Muslim
1Versity?

(A) Abdul Kalam Azad

(B) Syed Ahamed Khanl—"
(C) Nabab Salimulla

(D) M.A. Zinnah

55. In which year Calcutta Medical College
was established?

(A) 1820
(B) 1825
(©) 1830
D) 1835

A-7 ACP/20

36. Which of the following news papers was
started by Annie Besant?

(A) The Hindu
(B) New India
(C) Indian Express
(D) Indian Struggle

57. “10 Degree Channel” separates
(A) Andaman and Nicobar
(B) India and Srilanka
(©) India and Maldives
(D) India and Myanmar

58. A sub-field of Mathematics that is applied in
GIS to ensurc that the spatial relationships between
features are expressed explicitly is known as

(A} Taxonomy
(B) Topology
(C) Topostudy
(D} Toponomism

\ 89, -~ 1iverisknownasthe“RedRiver”
0 1a.

{A) Ganga

(B) Brahmaputra ¢
(C) Godavari

(D) Damodar

60. Which is the oldest mountain range in India?
(A) Satpura
(B) Aravall
(€) Bindhya
(D) Himalaya.

Please Turn Over
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61. The oldest surviving Tamil grammar is 66. Which International organization wi
(A) Ettutokai created os aresult of North Atlantic “Freary, 940
(B Pattpat gg’ :’/;l";)o
{O) Tolkappiyam (C; UNO
(DY Manimekali (D) UNESCO
62. Choose the correct altermative: 67. “P-Wam a term associaterd with
—4aa__ba_ bb__ab__qab Ccean
(A) aaabb (B) River
(B) babab © Wind
(©) bbaab (D) Forth Quake =
{D) bbbaa

68. In which of the following cities India’s first
. . 0
63, The ‘Moho’ discontinuity is the surface of Railway University set up’

demarcation between (A) Kharagpur
{A) Crust and mantle (B) Kanpur
(B) Mantle and core (C) Patna
(C) Mantle and oter core (D) Vadodara

(D} Outer core and inner cote

69. ‘Shruti’ literally means
64. Genuine : Authentic : : Mirage: ?

{A) Reflection
(B) Hideout
(C) Ilusion

(A) that which has been said.
(B) that which has been heard. —
{C) along poem.

(D) the written grammar.

(D) Image
65.  ho composed the song Sare Jahan Se 0. 1.4.27.16,7, 36,343
Achha? (A 25
(A) Mohammhad Igbal ~— (B) 87

(B) Chandrasekhar Azad
(C) Munsi Premchand © 120
{D) None of them (D) 125



71. Find the value of X in the following figure:

7
Q) A 8
Y D
R T
12113
A 3
B) 4
) 8
o) 12

72. The earliest reference to Indian slaves is
available in

{A) Kalhana's Rajatarangini
(B) Megasthenes™ Indica

(C) Panini's Astadhyayi

{D) Banabhatta’s Harshacharit

73. Anas, Erau and Som are the tributaries of
which river?
(A) Mahi
(B) Beas
(C) Sabarmati
(D) Kali Sindh

74. Which country became the ICC World Test
Champion held in June, 20217

(A4) India

(B) Australia
{O) New Zealand
{DV England

7s. Gandhi-Irwvin Pact was fikd on
(A) 8th January, 1931
(B} 3th January, 1931
Q) &th July, 1931
(DY 5th March, 1931

A9
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76. Most of Ashokan inscriptions are written in
(A) Brahmi script
(B) Sanskrit script
(C) Prakrit script
(D) Devnagri script

71. Who was the leader of Gadar party?
(A) V.D. Savarkar
(B) Gandhiji
(C) B.G. Tilak
(D) Lala Hardayal

78. Who was the Governor General of India
during the 1857 Sepoi Mutiny?

(A) Lord Litton
{B) Lord Curzon
{C) Lord Canning
(D) Lord Dalhousie

79. The Rig vedic social structure was
(A) Matnarchal
(B) Patriarchal
(C) Matrilincal
(D) Omniarchal

80. ‘Chulia” waterfall is simated on which river?
(A) Chambal
(B) Mahi
{C) Kah Sindh
(D} Luni

Please Turn Qver



ACPD

L Whede
A Lk of pigmentation n the skn
B asmall cownin m \fnea
OV avanets of nvdent

DN afracton of incoming solar radiation
that w reflected

&5 Who has been honoured with the Slst
Dasdasabed Phaike awand, 20217

1AV Risht Kapoor

'B1 Irphan Khan

+C)V Ramik anth

DV Soumitra Chatterjee

83. The Widow Re-marriage Act was passed on
cA) 1835
By 1856 -
iCr 1857

‘D) 1858

84, Choose the one which is different from the
rest three:

{A) 3759
(B) 2936~
C) 6927
(D) 4836

85. Who is the new President of Vietnam?
(A)y Pham Minh Chinh
{B) Nguyen Khac Giang
(C) Nguyen Xuvan Phuc
(D) Hun Minh Chinh

\.q0

86. The mast abundant gar emitted from
sole anoes—

{A) Waler vapour
iB) llelum

i) Sulphur dioxicle
i) Carbon dioxide

. In  context of acomputer what 5 the fulf
et LAN: ” “
{A) Local Area Network S
(B) Logical Area Network
(C) Limited Area Network
(D) Light Area Network

88. The person wha first attempted to calculate
the circumference of the carth—

(A) Erotosthenes
(B} Strabo

(C} Herodotus
(D) Aristotle

89. ch term will replz ce the question mark
m

(C) ZAB
(D) XKW

90. The Black Hole Tragedy took place in 1736
in the city of

(A) Murshidabad
(B) Surat

(Cy Calcutta

(13) Patna



91. Whah Artwle in ihe Constitutamn of India

provades for the pos of ¢ o
[} |m k' A
General of Indha C A G wnd Awdier

A At ke 148
B Arcle W23
{Cr Artcle 266
DY Artcle 248

92. The word ‘Budget™ 1s mentioned i which
of the following Arcles of the Constuwnion of
India”

A+ Artcle 266
1By Anle 112
C) Anxcle 263
D) None of the above

93. The Regulation on Audit and Accounts was
made bv C & AG of India under the powers conferred
by of C & AGs DPC Act, 1971.

(A) Section 20
(B) Section 21
(C) Section 23
(D) Section 24

94, Which of the following statements is/are
correct about Money Bill?
(i The Rajya Sabha may amend Money Bills.
(i) The Speaker of the Lok Sabha certifies if a
Finance Bill is a Money Bill or not.
(A) Only (ii)
(B) Only (i)
(C) Both (i) and (ii)
(D) None of the above

95, The power todispense with detailed audit of
ion 15 derived by

any accounts of transacti
C&AG of Inda unkr of DPC Act,

1971.
(A) Section 22

(By Section 23
(C) Section 24
([3) Section 25

AL pn

%%, What 1 the comttgum of the Framce
Commisawm

A} Chairman and mne clected s
Sabha ; members
Chairman, Ve<harman and ogim
nornated members

(C) Chanman, and fias cther membery
appeanted by the Prevwdent

(D) Ten elected member of the Lok Sabha

7. C& AGis athorised 1 audit all tramsactons
of the Union and of the States relating
Contingency Funds and Publxc Accoants onder

of DPC Act 1971,
(A} Section 16
(B) Section 13
(C) Section 14
(D) Nomne of the above

98, Whatis the 15th Finance Commission repor
title?

(A) Finance Commission in Heaith
Emergency

{B) Finance Commission in Nawre
Calamities

(Cy Finance Commission in COVID
Times

(D) Finarce Commission in Pandemic

99, Which of the following statements is correct

about Budget?

(i) It is a statement of financial position for a
future period, setung out proposed
expenditure and means of financing 1.

(i) Anicle 111 of the Constitution requires the
government 1o present O Parhament
statement of estimated receipts and
expenditure in respect of every financial
year.

Select correct one:

(A) Only (1)

{B) Only (in)

(C) Both (i) and (u}
(D) Neither {i) nor {it)

Please Turn Over
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jon of Fmance Commsien”?

108 :h'hz i the full foom of SETU n NITI 108, What 15 func!
e (A) Recommendations for budget
v S-d[ Empowerment with Technology By Financial conoperatinn hetween states
Ll (C Recommendations on distnbutin of
\B) Seif Empioyment and Technolog) 1ax revenucs hetween the Union and
Lulisaoon the States and amongst the States
,C Self Employment and Talent themselves
L bcabon (D) All of the above ®
Di Self Empowcrment and Talent
Lubsation
106. Who of the followi_ng is part of Geverning
181. [5thFnance Commission recommendations Council of NITI Aayog? ,
aould he applicable for the period from (A) All Chief Ministers of the States®
(A) 020w 0% (B) Ch;efh;:dr;nisters of Delhi and
By 2020 10 2025 Puduc
12: 021 ::;?]:1; (C) Lieutenant Governor of Andaman &
Nicobar Island
D) 202 10 20D ) A1) of the above

102. When was the first Finance Comunission
107. Which of the following duties is NOT

consatuted”
(A) 1951 performedbymcComptmlleraJﬂAuditor General
(B) 1935 of India?
(€) 1960 (A) To audit and report on all expenditure
D)y 1961 from the consolidated fund of India.
(B) To control the receipt and issue of
Public Money, and to ensure that the
103. C & AGs authority to inspect any office of pubhhc revenue IS lodged in the
ccounts under the control of union is derived from exchequer.
of C & AGs DPC Act, 1971. () To audit a report on all Trading
(A) Section 19 Manufacturing, Profit and.Loss
. accounts.
(By Section 18 D) Toaudi and Al )
C) Section 13 ) ‘o audit rcpprt on all expenditure
’ from the Contingency Funds and
(D) Section 14 Public Accounts.

104. Who appoints the Vice-Chairman of NITI
108. Who is the new CEO of Amazon?

(A) Elon Musk-

(B) Andy Jassy

(C) Richard Brandson
(D) Sundar Pichai

Aayog?
(A) Pnme Minister
(B) President of India
(C) Chief Justice of the Supreme Court

(D) None of the above

" -;q :'@_t" %
|



109, Avdining standdants shall, imterabia, in hile
the following

1 Bawe Postulates
it Gronetl Mandands
hekd Sand s
v Reporting Standareds

Select comed one
A
By pand (n
@y o, a Y and
(DY 0, () and vy

10. When was NIT] Aayog ¢stablished?
(A)
(B
(o}
D)

I January 2015
25 January 2016
14 May 2014

1 July2015

111, What is the full form NIDHI under Atal
Inpovation Mission?

(A) National Invite for Developing and
Hamessing Innovations
{B) National Initiative for Development
anl Hamessing Innovations
(Cy National Initiative for Developing and
Hamessing Innovations
National Invite for Development and

Harnessing Innovations

D)

112,
(1)
(i)
(i)
(iv)

Auditing Standards will apply to

the Individual Auditor

the Audit Department

the Auditee Organisation

the Head of the Auditee Organisalion
Select correct one:

(A) ()

() (iy and (ii)

(Cy (i), (if) and {ii1)

{1y (i), (i) and {iv)

Al

o M0

HS. Consides the follorwing sitement 0 tr
seduted wr the aonoal Dnane al ateene of ( Hudgety
0) The annmal franc al statenent
consuhidated Tundd
vemtingeney bl pd pobip, swconnt

il theee part
Qi Al aevenuen rased by e governtent,
ey bomowed i receigds From Jeans
given by the governmer N ntey the
eonsoliebatee funel of Inera
oy A e 12 of the Conmtunon requresth#
governinenl ke present b
statcruent of eshmated receipt
cxpendimire i respect of every hinancal
yer,

Tarhament
and

Seleet the correct statement!(s ):

(A) Only G)

(B) Only (i)

(C) Both (i) and (i1)

(1) (i), iy and (iipy

114, On which ol the following matters, does the

Finance Commission make recommendations (o
the President of India?

1. The distribution between Union and States
of net proceeds of taxes and allocation
between Lhe States of their respective shares
of such proceeds.

2. The principles which should govern the
grants-in-aid of the revenues of the States
out of the Consolidated Fund of India.
(A) Only |

(B) Only 2
(C) Both I and 2
(D) Neither 1 nor 2

115. Which onc of the fullowing statements about
the Finance Comnission is not correct!

(A} The Commission comprises a
Chairman and four other members,
The Parliament is authorised to
determine by law the qualifications of
the merbers of the Commission

(B)

() Al the appointments are made by the
President of India.

Allthe menibers have tbe Tron Tdian
i conomie Service or Indian Statistical
Service,

()

Please Turn Over
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1Y i bl the tollowing s et the fam o ol
the T Aavog!

A Toesobue ashaed s of sasional
deselopawnt paouties sectors aml
stimtegics
To loster perame tedetalio

1 To give tal appowsal 1o e b
Yea Plam of Indig

(Y To create a knowledge, innovition
and entreprencuanal wppornt sysien

Y Andi will e condin iy
i) mothe Audi oitee
thn the offee of the Aditable entity.
(+ & the st where the relevant records for
audil are avaalable
i) st such place as may be deaded by audit,
Sclevt commect one
tA) (1 and
1By o ity amd om)
(Cr g, sk and (iv)
dIh omrony)

118. Which Anxcle of the Indian Constitution
has the provision of Finance Commission in India?
(A) Arncle 282
(B) Artcle 380
{C) Anicle 280
(D) Arucle 284

119. The budget wus formally introduced in
India i

(A) 1860
(B) 1947
{C) 1950
1)) 1868

120. The form. conient and time of submission
of audit reports shall be decided by the

(A) Chiet S ecretary to the Government
(B) Comptroller and Auditor General

(Cy Secretary 1o the Government of the
concerned Depaniment

(>} Governor

1. e expressien Fonely i the AT A

] ire hwdes |
(A) at'o nperalive Sty

(18w Sodely aned w Chab
(') Nun Gove e Dy amsation

4y Al ol the ihove

122, All revenues recewved by the Umaop
Government hy wity ol tuwes and other recepts for
the condact of Government bustnesy are credited
o the

(A) Contingency Fuit of s
(1) Public Account

(('y Consolidated Fund of India
(1)) Deposits and Advances Fund

123, Under the Constitution of India, it is the
duty of the C & AG of India 0 audit and report on
the accounts of the

(A) Union Government

(3) Governments of cach State

(C) Government of Union Territory
having Legislative Assemhly

(D) All of the above

124, What is the diffe rence between “vote-on-
account” and “interim budget™

I. The provision of a *vote-on-account” i
used by a regular Government, while an “interim
budget” is a provision used by a caretaker
Government.

2. A “vote-on-account” only deals with the
expendilure in Government’s budget, while an
"inlc'rim budget” incluces both expenditure and
receipls,

Which of the staterments given above isfare correct!
(A} Tonly
(B) 2only
(') Both 1 and 2
(1) Neither | nor 2
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Al N \ 0
136 Comnder iy el statewents alwa 129, i e von Jor tie disagierent Diedween
the 1t O oy Toobite e bycont coonts and D 1l
e iy o the W Caiimgsson g ety Iy
AR TR bl dintnbipon (A Do e stk valination
O VECIC Teoleey Betwee Al ]
‘ v hetwegn the Vo N Milierenee ‘I|~|;|N'|.|llnn dullgc
amd the Naies |
U et wnder abserphon ol averheads
0w appeied eveny With sew Iy e '
Presudent of T At the ahove

Ioases mevenge to Cennal 1 e
Pramters o the States RIS K Mandr <0 bihen b1t equal
41 bonows maney on e mathel I
Central Gty 1 the States, (AL 0128
Which of the stateutents given above s conew?

B L 2an
S I RVILY 128
\p)f:’ b4 1

p
. LAL 11ggdd 0 = 5, then the haseatthe logarithm
\‘l/’../"‘.h‘l\\[‘\‘ wmerhead ¥ 200000, Totnl machine R b

ours 2040, which melugdes 40 hours due o normal

-
wle time and S0 hours 1ost due o break Jown of (A6 b'*
machinery. Machine hour rate will be (I

EYRCE! 10RO ()
SR o (XY me () o
| st:} (©) 210 iQ?:,/;aF\rY
\ \"’ oo (D}? 1 132, Which of the Following can net he wiilised
12277Y and Z e partners sharing protits and for ihcl purpose of rcflcmpuol: ut.prclc renge shulrcs
Ses a8 T2 313, They decide to change the ratio {relating to transter to Capital Redemption

e e - Reserve)?
to4:3:3. Sacrifice/Gain o X will be Rescrve) o o
' (A} Proceeds from issue of Equity shares

(A} E_(guin) fe issued W par
u _;1 (B Procecds from ssue of Proference
Miﬁ'c} ° shares issued o par
L + __)4 ,:l \'; () Procecds fron issue of Debentures at
C) T ¢ L pur
| 1 : a > 2 (D) Proceeds from issue of Right shares
(m lmnin so al pur

12B. € of sale implics ‘ .
(A) Cost of goads sold + Profit 3. What is the sumof ull positive fntegers up

(B Cost of goods sold + Sclling & © 1000, which are divisible by § wnd are not
IO visible by 2
Iistibution overheid di y

() Cost of production + Selling & tA) 10050
Distributiont vverhead (B 50,000
(N Factory overheads + Adnuisteation (Y 5,080
uverhead (5,000

PMlense Tarn Over
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13, Material use varianee can Ik‘Th herdivided
into additional vaianees

LAY where two or more nangerints are used
m combination

(B when Standard Quantity und Actund
Quantity are same

() when Standard Quantity is mote than
Actual Quantity

(D} when Standard Quantity is less than
Actual Quantity

138 A company's share capital consists of
150,000 equity shares of 5 each, k makes a right
issue of 1 equity share for every 3 already held at

2 per share. It then makes a bonus issue of

1 t‘mnt) share for every 5 shares held (with right
issue). Which amount will be shown in the Balance
Sheet of the company for equity share capitzal?

)
NATTI200000 7, quo ST ‘%ZM;J‘?}‘;W”
&i%"' u

(B) 214.,50.000
(©) 2550000 o0
(D) 216.50,000

136. Fhe following figures relates to a
marfifacturing concern
Units produced 4,000 14,000
Total Cost () 20000 60,000
Variable cost per unit will be

(A) 5 Yo -

B) T bow - Ao
\29))44)8/“)0"/ To o
(D) T6 »

137. The term independent of x in the expansion

15
of (——;‘J is

(A) 5
(B) 6
€ 8
D) 7

‘_I.!.ﬂ.- il 1a)

:,f’fh'j r: and (A r

/
. They
J
the virlue o i'm Ju

w
: f
n /
2
ay 7
T
« -
"

I
n
) 27

¥, nership business arises fropm
{A) inheritance
(B) agreementt—"_
(Cy operation of law
(D) status

andard time allowed for a job is 100
urs. Time taken is 80 hours. Normal rate of
wage per houris32. The wages under Rowan Plan

(A “”L/&a TS lrrzor
cw  O7 )
D) %180 oot

1. ritting off the recorded value of a fixed
GOove | \maﬂ gibl

¢ asset in cqual instalments over the
years is known as

(A) Obsolescence

(B) Depreciation

(C) Amortisation "
(D) Abnormal lnss

w wm has fixed expenses T 90,000

with sales at ¥ 3,00,000 and a profit of T 60,000.

The Profit/Volume ratio i
, b
(A) 50%\/§ 7

'| o e
(B) 30% |73V v
(C) 60% o ov°
(D) 20%

~fao
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w
W xample of Cysh Flow (rom mvesting
X s per AS-3 s
(AY payment of cush 1o ereditors,
(B payment of salaey to employ ses,
() issue of shares for cas by’
() sale of fixed assets for cush,

145, What is the probability of petting

‘ t iosum
from two throws ol a fair dice?

37(\ ? : ; :
(B) % WA
© 3
(D) é%

146. Assumption in calculating annuity is that
every payment is

{A) different

(B) marginai

(C) nominal

D) e al,
1

147, % 1000 was recovered from a customer,
o.cd salready treated as ba debt, But it
was wrongly recorded as cash sales with the same
figure. The rectified entry is
{A) Cash A/c Dr.
To Debtors
(B) Cash Afc Dr,
To Bad debt Recovery

(C)-Sales Al Dr.

To Bad debt Recovery

(D) No entry

Py .| yeo
e,

b Ae
BER

Cot  HlC PV
Y

Sl

A-17

AP0

I8, e Goodwill ul bl was depded o be
\mm’ml A twor yews' pinchase ol the averag
winnal profits of the by yeins, such prohis
Deing T 100, 32,00 i 2000, The value ot
Goodwill 5 Rk

(A} 24,400 @jﬂ ”6,}@

(h) 22,90 b \Z

() T

(M 5000

//?

\I-l‘),,l‘ﬁst bay-buck (of equity sharey ratio
whween debts e equity Dungd of the company
should not exeeed

Ay 11
i 1.2
{21
(M 3:1

150. Which of the following is o unit free
(uimntity?

(A) Range

(1) Sitandard Deviation

(C) Coefficient of Variation
(D) Arithmetic Mecan

151, The name of the ratio which indicates “The
efficiency with which funds represented by
inventories are being utilized and managed” is

{A) Quick ratio

(B) Gross profit ratio

{C) Inventory turnover ratio

(DD} Average debt collection period

152, Which onc of the following is not a
component of Financial Statement?

(A} A Balance sheot

(B) A statement of profit and loss
(C) Fund [low statement

(2} An Auditor’s Report —

Please Turn Over
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T
recond ::;\ -f mM L Xfor ¥ 18,000
ugh) ¥ syep mn- Siles ll)u)’ Book ax
behlhe i ‘ d“m“.“ was rigltly ereditedd,
npact of hy

‘serror on profil?
{AYProfit red ye ed by T H1L000

() Profit inereaseq by T 18,000
©) Profit reduced by T63,000
(D) Profit increased by T 99,000

153, Purchaseu{gu
“Vaswrongly
?Sl.(\)ﬂ.lhn
What wil)

b:lff{l‘\ l?ank overdraft balance is T 60,000, The
A allowed an overdrafy timit against

hy . .
Vipothecanon of stock keeping o margin of 20%,

The v; tov i '
alue of stock hypothec.ated taking maxinun
Permutted linug g

75.000 g&;‘l’i\;g
(B) 260,000
(©) 72,000 -
(D) T 50,000

IS5. Moving average method is used for
measurement of trend when

(A) trend is lincar. S
. . ,l’n" LY

(B} trend is non-linear. PN

(C) trend is parabolic. v v

(D) e of the above

15 § . el
156 C.= | ﬂrq the value of C"lsl P
Pl .?-*S,
%l

) 48
'(-B)/SG—"V(,V 8o,

) 28 "] d
ey .
(D)6 'r—""".—‘-g'-’:.‘.g_’.(

157. Two lines of regressions ure given
Jv -2y =5and2x -y =4, the value of T is
(A) 3
B 4
) 1
D) 5

158. If variance (v) = 25 then standard deviation
1 .
of 5(2.\'+5]:s equal to
5
() 12

B) 5
<y 25
D) N

s Tyeaam
13

189, Zvw e dge ing (210 18 wsedd on the

busin of
(AL Dt hudget provision is Za

N previons yenits) expendimie w givey
emplinsis

() Formubating o bucdgel withoul nuking
relerenve o previous plans and
achlevements.

(1 how much is 0 be udded with o
deleted {ron the previous budget
figures.

160. Which one of the following w not used 1o
create Secret Reserve?
(A) Charging capitalexpendituee as revene
expenditure.
(B) Making excessive provision lor
Doubtiul Debts.
(©) Providing excess Depreciation on
tixed assets,

(1) Issue of bonus shave,

161. Consumer price index is also known as
(A) cost of living index.
(B) sensitive index number.
(©) wholesale price index number.
(1) compaie index nuber,

\@M{x' over-tecovery of factory overhead, the

journal entry in Cost Book will be

(A} No ey

\@—--Fncmr_\' Overhead Control Ae .
To Overbead Adjustivent e (or
Coxting M A/

() Overhead Adyustiment A/ciorCosting
AL Al
To Factory Overhead Conteol Ae

(U Factiry werhead Contol Ao Dr
Totost Fadger Control AL
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164, Current ratio is 3, quick ratio is2. work i ing

capital s T34.000, bank ovendralt is 29,000, The
value of stock s

(A 3OO
(B) 236000 v
(©) 33000 R -3 ¢

Y
D00 (L aow
Ch= -St

QUovo-Sr = 3pnuBIon-90w0_

SFDJL: ¥ “re
lﬁa ase in variable cost without any change
gp  and fixed cost will result in
t ;; (A) 1o change in P/V ratio
b9 . (B) higher BEP
< P . (C) increase in Profit
" (D) increase in P/V ratio (in %)
P

166.  company makes a bonus issue of shares. 170
tis the effect on net assets and the reserve of
ﬁf"' the company?

2/ Net Assets Reserve
,, Y (A) mncrease ecrease

-~ f_,a‘\ (B) increase nchange
A" '/J unchanged decrease
- {D) unchanged increase

1.
mission is given by the Consignol to the
Consignee to protect himself from

167. In how many years will an annuity of T 400 c
.amounts to T 4064 at 3% p.a. compound interest?

[Given, logl-3048 =0-11554; logl03 = 0-01284]
(A) 8 yeals
(B) 85 years —
(C) 9 yeals
(D) 10 years |

4obY - Qav("l) wleaee
0.6 %Q {1—’

aév )6- Ly .
Gogyl™" 7

v

AP

PIANRY-

lhrn the wdlu f

f'[.;\‘ | 1nt ).‘

I3
Ay
4

(R 3

)___
D) T

169. Tf log, x = % then the value of xis

2

-

3
(A) é (,j,) 4 x.)
1
® | (é%,
© .

(D) None of the above

. Sales ¥ 1,00,000, variable cost T 80,000,
fixed cost ¥ 12,000. The Break Even Sale is

(A) £20000 [1#0r 0 P’ff’”

(B) 712,000 ﬂj,f»‘ff

© 15,000

o Teoo00” L= LEN«.V
6o 4

of consignment business delcledere

(A) the risk of loss arising out of bad debtl—"
(B) the risk of abnormal loss.

(C) the risk due o fall in the market price
of goods sent.

(D) All of the above

Please Turn Over
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wWrxe

7L The amvwi o poipeetual annmty of B0 a
vem 8 S%compound et pow
AN
i
WY T
I T

e

\ 1 73 Therate of grosprotiten sak is 40%. If the
<fhing pove i ndeeed b 109, what will be the

o N e of gross profit on sales?ypy STPY go
AV R ef- ek -
RT3 X ‘A

ISR e (@O
L. ‘(‘“" 19
vEX
D32 UL MY
oo

174 A7 how many ways can acommittee of 5be
formed from 4 professors and 6 students so as 10

include ar least 2 professors? 2
'0411/86 Y. C . {L.{c A
' A
\,B) 180 s 2
iC) 188 “‘/7’-—’ 5 N
2 D) 150 \/l(2 *
AR :"“I

w‘_\

175. If mean = 20, median = 16 anl standard
deviation = 2 then the coefficient of skewness is
(A) 1
{B) 4
C; 6
(D) -2

1 7 Iféhe number of terms in (l+x)" be 13, then
the Sth term 15

(A) 130x%
{B) 495x5
{C) 495x° L
(D) 654
S . )
'V
C %7
Gy T

\-20

Reserve Capital 18 called np

in an emergency only

any tune hy pasaing dn ”f‘lll'lanly,
pesolution

(A}
143}

(') the cver! arel for the purpase of the
company heing wound-up.
(D) if all directors agree.

178.  Process [ 10,000 units were introduced
4 total cost of T40.000 including the cost of
material. labour and ovetheads. Normal loss 500
units. Scrap value per unit 4. Abnormal loss

100 units. Remaining 9400 units is transferred 1o aiv
Process II. The cost per unit of the transferred gf
prOChCI S 4 —--p-r--ﬁ_?hﬂ"‘?‘.——v"ﬂ‘.‘ﬁ;—q
B) T5 [ NSV ey
®) AL e
ot B
(D) — 3
— £ .
‘ o5

ning balance of stock as on 1.4.2020 ;b

179.
’\.:aﬂOOkgs. @% 10 per kg. Purchase on 5.4.2020

was 30kgs. @ 11 per kg Issue on 8.4.2020 was

60kgs. Balance of stock on FIFO hasis on 9.4.2020
106 Wy Flo FLET

was c.d.
(A) 400 L. 30 g g1 3¢
(B) 3440 guRD GO by l"z}c
© 230" T
D) T700 Zs

80, 8fock tu mover ratio (in terms of cost of
goods sold) is 8 times, average stock is T 40.000.
Goods are sold at 20 profit on sales. Find profit.

o000 ShS - g
(5 T0000 T (LS 2 Do
(©) % 60000 %; = )
(D) ¥50,000 o 2 bt 28% X7

g‘/‘yﬁtv Y‘ré"s qppﬂ
81.  argin of safety means
(A} Total Sales - Break Even Sales™""
(B) Total Sales - Fixed Cost
(C) Towal Sales ~ Variable Cosl
(1) Fixed Cost—Contribution

5\‘1&
LY TG

'\/\LY& Wr

b
4 X
C"‘-{\ /{)\af‘
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6 a*?'ﬂl
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B W & Barming Ratio s 0% g0d Mark v

Prcrshare 310 What will be the TN
per s hare?
IR R {, ~ A
R S U
© T 2 ;5
< >3
O T40 PR
o

(183. 1f A={2}, whichot the following statement
is true?

(A} 4=2
(BYlc=.
@ {2e i
DI2ed~-

184, ifr=0dCov(r.v)= 10ands =5then the
value of o will be

@ 4 L85 o g
By >

QY 6

(D3

P

185" Which one of the following is an example
of sources of fund?
(A} Decrease in Share Capital
(B) Increass m long-term liabilities v
(€ Decrease in fong-term liabilities
D hereas e m Fied Assers

.'\‘1'. .

ACPR0

l&;\tﬂ'\c time of forfeiure of shares

(A Shiare Capital scvount iscredited with
the catled-up value of shases furfvite
(B Share capital account is debited with
the fave value of shares forfeted.
Sheare capital ace ount is debited with
the called-up value of shares forteited.
Share capital account is aeither
debited not credied.

O

(W)

Ve
Mpenin;g halance of P&L AX 15T 1,60.000,
closiing balance of P&L A s T 2,00,000.
Depreciation wninen off ¥ 10,000 and Loss on sale
of fived as e charged 0 PEL Ak is T 20,000
Fund from operation is

(A} T40.000

(B) T70.000%
«C) T30.000
(D) T 10.000

W3a=2. then the vahue of log, (3) &

A Aa "
5. 43:‘

3 RS
%7}3

B)1 2.
0
/ !

DY 9
32 " E@z
3

189. The sum of third and ninth term of an AP,
is 8 Find the sum of first 11 terms of the AP.
(A 22
By 19
(Y32
D H

Please Turn Over
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ACPD

1% horease wn the number of panents in the
hoegnial due b heal cnoke s

(A vl tremd

B wcasonal vanaton
WY vwheal fumetions
D amegular movement

191 The praceles elof acountry i acertain year
hasiovTeas edxSe over the huse period, Theinde
number

VAL A
BY 12>
W28

I 43

192, The first moment aboutx = Oof adistribution
15 1208, the mean 5
‘A 1080
By 1008
{Cy 1208
D1 None of the above

193. The impact of change in EBIT on EPS is
shown by

{A) Operating leverage

(B) Financial leverage

{C) Combined leverage

D) Pay back period

\uu.ThA;nher of subsets of the set

A=12.3.4) s
Lygve¥!
tA) 16

g M
Gy 10
iy 4

\-21

'“ 2" many *.y( can the leners of the
& " #BANGLE be arranged woch that # =il
h R and ends with v’

Ngm wil
o K-
‘B’ 50-“) ke ;"
'(__' 1,0\/' r(f\‘L‘
Dy 220

1. Pro fi t before 128 is 2600000 Tax ruz s
30%. Equity share capital 8 ¥ 200000 T 20 per
: share ~capial Z 0000

share). 137 ;_m?lemn‘:"e - &
What is Eamning per share- .
- oTe LTI
TS )~ . %*
- LR e 2
B) 1 [l 5.8
QT
T6 7
R——
197, Simple interest oo 3 sum 4% pa for twe
years is T 80. The compound interest of the same
qum for the same period i _
S
(A T160 = ',
WBr TR0 ____._:"‘"“ = $r
O Z1081-80 P ﬂ\.'é-‘ =1
D T ) %
pe POt L) EN
= .’m(.’»e.a.lt .:'_' 3

-

=~ e < 83 » \-""_ -
'T._.‘% v-;f,T

e
e 2.
198, The relationship betw een shifling wperaiot
E and operator A i interpolation &

(:\ F=1-A
BE=1+.
Y E =4 -1
U F o=



A2 AP0

el
\lﬂ’:}‘ﬂ(\'nluc ol Iunglug--L i 200, 1 the atiributes A und B are independJent
LAY 1" then the coetTicient of association 18
B’ 2 GYIS|
M 0 © (T')J
(1)) None of the above

,gr -+ ,«e’/ -

>3
D
p

S
.
~3

T



